KenarenpHo IMPUMCPEI PCIIATh Ha CUCTAaX.

70 + 20 = 90
7A.+2a.=92.

Pelwin npumepsbl

30 +40 =
60 + 20 =
50 + 30 =
10+ 50 =
70+ 30 =
60 + 40 =
80+ 10 =
o0 + 20 =
60 + 30 =
50 + 50 =
40 + 50 =
30 +30 =

CnoxeHue U BbluUTaHUe
Buaa 70 + 20, 70 - 20

70-20=50
7A.-2A0.=5n.

70-20=

80 — (10 + 40) =

100-70=

80-10+20 =

40 - 20 =

100 — (30 + 40) =

90-30=

20 + (60 - 30) =

100 - 60 =

90-30+20=

80-10=

70 + (10 + 20) =

90-70=

60 — (20 + 20) =

60 -30 =

60 -20 + 20 =

90-80 =

50 + (70 — 40) =

50-10=

80+10+10 =

60 - 20 =

80 — 40 — 40 =

80 —-150 =

90-50+10=
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